AR = B BB 8 B £ A & 2022FE AR B2 B = 20211 FEARBR
mer S-SR 48| ] | B |WE EE-FRNER-BR) - ([ZTH | 4| B H | 8 AR oo s Y= & | B
X # e 9— % B R | & |59 s A (gt . < Hi% | mE B ¥, SEYETEE RESBE |EY| &
ARS <§& 3 Z> é H%'Z E g éi ﬁi*{# %0)1'&’, IJ‘umi(;ﬁ B:!fFEﬁ) Eﬁ Ilj Eﬁ ﬁ 5§ % %:_)] *EIEE) %ﬁ?jﬁ %0)4‘["_1, %IIJ % %
0OR| 5 | % | (EHEFERE) « ZDfth T EE| B B = |&B ’ ' e H | X
NER-EE 20 Frz L 1R =HBRA P P GE)HE—~JGE PR =25 70| 16| 44
-thEE 8 2K =i o1 927' O BRICE AT 17] 6] 28
-SRI | 15[ B ||| X | X GE) BOLR bR L S 2 - '2 10.16 | 11.1 | 11.18 48| 13| 37
MAEONEEE LA 0.8 104
FradiRisd 52 & ’ ’
<HTAT 1 (BETHR) > LA 1R =HEHRA - HE <1k
BABE-BABE | 17 2R = BRIRA - RETH 91 | g5 ™ 54| 31| 1.7
—fERE | 8| fF || X | X (6043) « /NGRSC (800FEX2| — - 2 <2'm> ’ 11.18 17| 11| 15
+ 90%3) 913 | 016 "
<HFATUWET—/NIED) > ROWFT D, (1)FehRHE | BHEA - /NS (800F 913
WABK-HWAKK | 5 . 2%, TOEFL-iBT354, | * 604%) « i B B ' 2 1] 2.0
-fEREE | 5 RN TEAP220 5 L) L% 0 1;4 10.16 | 1111 11.18 1 1] 1.0
B, (254358 1 :
<EHRER > FRZiI L EHEEEA - BMtRA T (O A TEES0 .4, PR
RR-EERRMERT | 10 i, 9040) - WPk A O 1004, EPERA TSN, 3| 37| 12| 341
-REEL 20 (9043) « Mtk 20045 23| 15| 15
@ &R -5 GE) B R T~ HE R
I - <EEE 6 R}« BHEF - BAEE 013 74| 6123
KA — <BEEMHEE> | 6 . R =N ‘ 33 7| 47
woear-or | g 8 HOLR| X | X - - 1;4 1017 | 11.1 | 11.18 17 sl 21
Rira | REE® |8 ' % ¢l e
A5 5 T - 6 38| 6| 63
R 8 23] 10| 23
-PEMERER | 6 271 11| 25
-ERRRILER 20 18] 16| 1.1
<BRERAR—VEI> D L4, (DEEREFEK | FHEA - /NS (6043 HH+mES04, /NRSC50
1RfE—fEEEfENL | 50 WERFB TRy b | - HitE A, BH1004
A=V~ D N F R EE
Th s, QBN 9.1
LR X | O | xS, »OREA - - 1925 | 111 [ 1118 GHr i 92ti)
FHROLRFOHERTELT 9.13
AR, WL TR &
Z K= iGB & WS & H
PEEDD BH
E—E 1 KRzt L LR = H R A e B (20040 + % (1A 8] o -
QR =FHT 2 b« N 1118 12.15 - IBfgE, £41004) - #
LR X | X (6043) - THiHE = - l P ’ 2.25 | (W - 1k - W S2FHH, &
130 ., 216 ;tioﬁﬂg) 716005 (3%At5




